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O Parodontosis (periodontal disease) IS a disease of the teeth of

mfrmgement of the trophlc (food) Jawbone and perlodontal tlssues
(violation of updates tissues, circulatory disorders gums, impaired
mineral metabolism). Causes of gum disease are the changes
caused by diseases of internal organs and systems (atherosclerosis,
hypertension, vegetative dystonia), and bone disease (osteopenia).




1 Periodontal disease is uncommon (5-10% of

cases). Periodontal disease does not cause pain
and other sensations, so patients usually do not
seek medical attention. In marked stages of
periodontal disease is complicated by
Inflammation of tt |
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1 Clinical symptoms of periodontitis are inexpressive.
Berodortatd reved SENEAIE ' o
showing themselves. Patients with periodontal disease
noted discomfort in the gums, the feeling of itching, but
most often turn to a dentist due to sensitive tissues.




SIGNS OF PERIODONTAL DISEASE

1 pale staining of the gums, no signs of inflammation;

0 retraction of the gums to expose the neck of the
tooth, and then the tooth root, it looks like the
“elongation” of the tooth;

0 no bleeding gums;

1 periodontal disease may be associated with lesions
of non-carious tooth tissue type - erosion of the
enamel of wear of the tooth, wedge-shaped defect;

1 with periodontitis often present diseases of the
cardiovascular system, endocrine and metabolic
disorders.



TREATMENT
THE TREATMENT OF PARODONTITIS DEPENDS ON THE
STAGE OF THE DISEASE:

i

i

First the dentist carefully removes all causes for the
Inflammation, e.g. removes plaques and tartar.

The next step is to evenly distribute the load for the
whole set of teeth. This often requires slightly grinding
some teeth so that the masticatory surfaces fit well into
one another.

Missing teeth have to be substituted because a
complete set of teeth is essential for an even load.

If the disease has reached an advanced stage existing
gingival and infrabony pockets are removed. To
accomplish this various methods have been developed.

Teeth that are already loose can be stabilized by fixed or
removable dental splints.



YETBEPTbIVN (CMELLAHHbLIN) TUM YCIIOBHOIO
NMPEOJNTOXEHUA

MIXED CONDITIONAL

0 OTOT TMN YCNOBHOIO NPEANOXEHNSI MOXHO PaCCMOTPETb
OTAENbHO, XOTS1 OHO KaK Obl "CKIeeHo" N3 yCnoBHbIX
npeanoXeHmm BTOPOro 1 Tpetbero Tunos. [peanoxeHue
CMELLaHHOIo Tuna MoXeT UMETb ABE POPMbI:

0 YcrnoBHas YacTtb - hopma Past Simple (BTopon tun) +
ocHoBHasi 4YacTtb - Would + Have + ||l dpopma rnarona
(TpeTun) Tun.

1 If you were more attentive, you would have passed the
exam yesterday.

0 YcnoBHast YacTtb - popma Past Pertfect (tpetun tun) +
oCcHoBHasi 4acTb - Would + nHpHUTUB rnarona(BTopon Tmn).

1 If you had taken the medicine, you would feel much
better now.



*We can form mixed
conditionals, if  the
context permits it, by
combining an if-clause
from one type with a main
clause from another.

* The most common types
are:

" MIXED CONDITIONALS

Type2-Types

lfyou  more sensible, you

your parents like that.

to

Types - Type 2

If he
money, he
prison now.

all that
in




0 _[1puymHa ncoonb3oRaHULg CMelllaHHOMQ TMNa YCAOBHOIQ
npeanoXeHnsa B TOM, YTO YacTo yCnoBMe coBepLUEHUS
OEWUCTBUSA OTHOCUTCA K NPOLUIIOMY, @ BO3MOXHOCTb €ro

COBEPLUEHUsI K HacTosLWeMY unm dyayiiemy, n HaobopoT.

1 If you were more attentive, you would have passed the
exam yesterday.
Ecnu Obl Tbl Obi1 60Nee BHMMaTenbHbLIM, TO caarn
Obl BYepa 3TOT SK3aMEH.

0 Ecnun 6bl Tbl BOOOLLE (BYEpPA, ceroaHs, 3aBTpa) obin "donee
BHMMAaTESNbHLIM - Mario BEPOSATHOE, HO BCE Xe pearibHoe
ycnoBue (BTOpOW TuM), TO BYEPA (KOTOPOE YXKE HE
BEPHELLb), Tbl Obl cAan 3TOT 9K3aMEH - HepearibHoe
CNneacTBme YCnoBUsi, OTHOCALLIEECS K MPOLLISTOMY.



o If you had taken the medicine in the morning, you would
feel much better now.
Ecnn 6b1 Tbl NPUHAS NEKAPCTBO YTPOM, TO cenyac Obl
4yyBCTBOBAJ1 cebsl ropasao nyulle.

0 YTPO yXXe OKOHYUNOCh, MO3TOMY 3TO YXKe HepearibHoe
YyCIoOBUE, OTHOCALLEECS K NpOoLUnoMy. (TpeTuun Tun). " Thbl
cenvac vYyBcTtBoBarn obl cedbs ropasao ny4yiie” - BrnosHe
pearnbHOE crneacTBMe NOCTaBNEHHOMO YCNOBUS,
OTHOCSILLIEECS K TEKYLLIEMY MOMEHTY.

0 Hake ecnu Obl B 3TOM NpeasioKeHnn He Bblno
00CcTOATENBLCTBA BPEMEHU "YTPOM", TO ECTb ABHbIN
KOHTEKCT, TO AEUCTBME BCE PaBHO Obl OTHOCUSIOChH K
NPOLLUOMY.



MIXED CONDITIONALS

There are four different conditionals. However, we
can sometimes mix them if we want to change
their meaning. This Is an example where we look
at an action in the past and its impact on the
present,

* We use the Past Perfect with ‘would’ and the
Present Simple/Continuous

1)If | had set off earlier, | would be
there now.

2)If | had eaten more at lunchtime, |
wouldn’t be hungry now

3)If | had done better at school, |
would have a better job now

4)If | had got a better job, | would be
living in a nice house

S)If | had worn sun-crem, | wouldn’t
be sun-burnt




[NPUMEYAHUE

0 Ecnu ocHoBHasi YacTb NpeanoXeHns BbipaXkaeT BEPOATHOE
OencTBue, To, eCNu Toro TpebyeT KOHTEKCT, MOXHO MOAYEPKHYTb
ONMUTENbHOCTb 3TOro AencTBUSA - TO ecTb BMecTo Would +
NHUHNTMB rnarosna oyaet Would + be + nHnHUTMB rnarosa c
OKOHYaHUEM -INg.

o If I hadn't missed the bus, | would be having dinner with my
family now.
Ecrnn 66l 9 He ono3gan Ha aBTobyc, To cernyac Obl YKUHanN co
CBOEWN CEMbEMN.

0 B ycnoBHom npegnoXxeHmn cMeLllaHHoro
TUMna BonpocuTeribHbIe 1 oTpuuaTenbHble POpMbI
o0pasyloTca Takke, Kak U B YCINOBHbIX NPEASIOKEHNAX 2 n 3
TUNOB, B 3aBUCUMOCTU OT UCMOSIb3YEMOMU rMarofisHou opMbI.

0 If you didn't go to parties every day, you could have entered
the University long ago.
How would you feel today if you had drunk too much beer
yesterday?



THANK YOU FOR
ATTENTION!!



